WORKSHARE HYPOTHETICAL
FOR WITNESS PANZAR
Please refer to your response to VP/PB-T1-8(c).

1. A mail subclass has 2 categories—workshare and non-workshare—each with 100 pieces of total volume.

2. When the workshare category was created, the cost difference was 5 cents and the discount was set at 5 cents.

3. Now the cost difference is 10 cents.

Does your response to VP 8(c) mean that you would recommend a new discount of 10 cents?

4. The elasticity of workshare volume with respect to the discount is 0.1.

5. A doubling of the discount (from 5 to 10 cents, or a 100-percent increase) would thus cause10 pieces to convert to the workshare category.

6. Each of these 10 new pieces saves 10 cents and receives a 10-cent discount, a break-even transaction for the Post.
7. Each of the 100 old workshare pieces receives an additional 5 cents, or $5.00 in total.

8. This $5.00 must be recovered from the non-workshare category.
Does your response to VP 8(c) mean that you would recommend a new discount of 10 cents?

9. The own-price elasticity for non-workshare volume is -0.2.
10. The own-price elasticity for workshare volume is -0.1.

11. The current price of non-workshare is 40 cents.
12. Raising the price of non-workshare by 5 cents will not recover $5.00

a. Only 90 pieces of non-workshare remain—at most $4.50 can be recovered.

b. Raising the price of non-workshare by 12.5 percent (5/40) will cause 2.25 pieces of non-workshare to leave the Post.

13. The price of workshare will be higher (45+ cents less 10-cent discount = 35+ cents).
14. The price of non-workshare will be higher (45+ cents vs 40 cents).

15. The Post will be financially indifferent.

Does your response to VP 8(c) mean that you would recommend a new discount of 10 cents?

